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1. Let S be the set of all persons living in 4. If the difference between the roots of the

Delhi. We say that x, y in S are related equation x2 +kx+1=0 is strictly less
if they were born in Delhi on the than /5, where |k |22, then k can be
same day. Which one of the following is any element of the interval

correct?

(@ (-3, -2]U[2, 3
(a) The relation is an equivalent
relation (b) (-3, 3

{b) The relation is not reflexive but it is (e) -3, -2]v2, 3
symmetric and transitive
(d) None of the above
(c) The relation is not symmetric but it

is reflexive and transitive 5. If the roots of the equation x2 + px +g= 0

are in the same ratio as those of the

(d) The relation is not transitive but it equation x2 +Ix+m=0, then which

is reflexive and symmetric e
one of the following is correct?

Do 272
2. LetA={1,2,3,4,5,6,7, 8,09, 10}. Then (@ p°m=1i"g
the number of subsets of A containing " 4
two or three elements is (b) m=p=1i“qg
(@) 45 (c) m?p=q?
(b) 120 (d) m?p? =12q
{cj 165

6. The value of

T +(-1-:x/§ a
ek

(d) 330

:2n , 2n+1 | :2n+2 | :2n+3 ) :
3. The value of i*" +i g 4 * where n is not a multiple of 3 and

where i = /-1, is i=+—1, is
(@ O @ 1
() 1 (b) -1
(c) i () i
(d) i (d —i
GRS-S-FDE/70A 3 [ P.T.O.




7. 3% 1, 2 9 3 ¥ dH-FY GG W YHR

g1 7§ ¥ 6 3k ey A T B 1 W WER
$1 di-2hE gEmat =1 A e S 87

(@ 1233
(b) 1322
(c) 1323

(d) 1332

8. M 0.3+0.33+0-333+... % n T& =AM

Toreas o B 7

() lhn—3{1— 1)

o i
|

9. AR 1, o, 0 HE (FFAR) F Fga §, @

(1+ @)1+ 02)1+ 03)(1 + 0+ 0?)
Toraa R 87

(@) -2

(b) -1

€ ©

(d 2
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11. 9@y =

10. If¢ T Gk Aot (AP) F m UGl AT n B 4

n T@ H AN m B, A (m+n) T OF A
Toraeh e 87

(@ mn
(b) m+n
{c) 2(m+n)

(@ —(m+n

1+21
T

% Wi 9 &I HTH

@ 1,0
() 1,1
(c) 2,0

d 2,1

12. IR o fErdg sgue %1 sne grpld: x-3g

F I fBr 7, 9 Fefafaa § @ S9-a1 &
37

(@) <R g IRt 3
(b) TF A Aok o T A
(c) =€ g afmy 2

(d) HET TR ST Hehall



7. Three-digit numbers are formed from the
digits 1, 2 and 3 in such a way that the
digits are not repeated. What is the sum
of such three-digit numbers?

(@) 1233
(b) 1322
(c) 1323
(d) 1332

8. What is the sum of the series

0-3+0:-33+0:333+... n terms?

) 1

" 3 n_5p_10”1
M. Wf 1

€ 3 n—§(1_10n]J
1 17 1

(d) 3 _rt—§[1+ Ton H

9. If 1, w, ©? are the cube roots of unity,

then (1+)(1+0?%)(1+0%)(1+0+0?) is

equal to
(@ -2
(b) -1
€ O

(d) 2

GRS-S-FDE/70A

10. If the sum of m terms of an AP is n and
the sum of n terms is m, then the sum of
(m+n) terms is

(a) mn
(b) m+n
(c) 2(m+n)

(d) —(m+n)

11. The modulus and principal argument of
the complex number

1+21i
1-(1-1)2

are respectively

(@ 1,0
() 1,1
c) 2,0

@ 2,1

12. If the graph of a quadratic polynomial lies
entirely above x-axis, then which one of
the following is correct?

(@) Both the roots are real

(b) One root is real and the other is
complex

(c) Both the roots are complex

(d) Cannot say

[ P.T.O.




13. 3R |z+4 (<3 8, @ |z+1| F Aferekan A= 16. T x2 +bx+c=0 (W& b 3N ¢ TAX
w87 2) & el 1 A7 396 a1 6 el o AN b
w%,?ﬁ-}:, b, < i A 1 ¥

(@ O
(b) 4 (a) AP
fc) 6 (b) GP
(d 10 (c) HP
(d) TR B ¥ I A
14, S 22 =22 & ol $ g fhan 87
(a) 2 17. @i ax? + x+c=0 (& a 3 ¢ PR
%) % weil o1 9 Sk ST b YRl % AN
fb) 3 TR 2, N a, ca?, c2 & aofy 7 27
(@ 4 (@) AP
L (b) GP
(c) HP
15. A @feor x2 +bx+c=0, & b#0, &
Hol cotoa & cotf %, @ cot (o +p) ETeED (d) Wﬁgqﬁéq—ﬁﬁ
S 27
(a) 9—-;—1 18. [C(7, 0)+ C(7, 1]+ [C(7, 1)+ C(7, 2)]
+... +[C(7, 6)+C(7, 7)]
b
(a) 254
b
M = (b) 255
(c) 256
% 1% (d) 257
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13. If [z+4|< 3, then the maximum value of 16. The sum of the roots of the equation
|z+ 1] is x2 +bx+c=0 (where b and ¢ are
non-zero) is equal to the sum of the
(@) O reciprocals of their squares. Then
1 c ;
~, b, B are in
(b) 4 ©
(a) AP
(c) 6
(b) GP
(dj 10 '
(c) HP

N h
14. The number of roots of the equation (@) Hose otthe sbove

z2 =27 is
17. The sum of the roots of the equation
@ 2 ax? +x+c=0 (where a and c¢ are
non-zero) is equal to the sum of the
reciprocals of their squares. Then

b) 3 ’
G a, ca2, c? are in

(c) 4

(a) AP
(d) zero (b) GP
(c) HP

15. If coto. and cotf are the roots of the
equation x? + bx +c = 0 with b # O, then
the value of cot (o +f) is

(d) None of the above

18. The value of

@ <1 [C(7, 0)+C(7
b (7, O+ C(7, D]+ [C(7, 1)+ C(7, 2)]
.. +[C(7, 6)+C(7, 7)]
(b) 1;" is
(@ 254
o -2
g=] (b) 255
’ (c) 256
L v (d) 257
GRS-S-FDE/70A 7 [P.T.O.




19. %5 ‘EQUATION’ & Uil | S-TL S b ATel 22, Fvfi

maﬁ%ﬁf‘wmﬁﬁﬁwwﬁ:ﬁ 1.8.7.15,
T AT T 37d U oH9H § Bl 2t 2 4 8 16
_ F YUY n Ya] I A fREe sRER 7
(@) 5200
(@@ 2" -n-1
(b) 4320 b 1-27"
(¢) 3000 Lo
fd) oh=1
(d) 2160
23. gl A9 B % gy § Frefafas w faem
Hife
20. n T #1 wH @uR Aof (AP), TEeR A 1. (A=B)uB=A
n? —on ?, % ui=al ua fRues e 87 2. (A-B)uA=A
3. (A-B)nB=¢
(@ S5 4, AcB=>AuUB=B
It & ° BH-¥ WE 87
(b) 7
(@ 1,233
(c) 8 (b) 2,3 3N 4
(d 15 ¢ 1,3 3R4
(d 1,2 3R4
21. d-aihr v frm et %1 9o fFasd ST 24. T fg-amurlt g
&7 (1p107), +(10g1), = (100700),
2475 EFE'TP, gd T%'Wﬂﬁ%%,ﬁp,qaﬂtf
% O e g
(b) 2530 (@ 0,1,0
(b) 1,1,0
(c) 4905
(c/ 0,0, 1
(d) 5049 (d 1,0, 1
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19. The number of different words (eight-
letter words) ending and beginning with
a consonant which can be made out of
the letters of the word ‘EQUATION’ is

(@ 5200
(b) 4320
(c) 3000

(d) 2160

20. The fifth term of an AP of n terms,
whose sum is n? —2n, is

(@ 5
(b) 7
(c) 8

[d 15

21. The sum of all the two-digit odd numbers
is

(a) 2475
(b) 2530
(c) 4905

(d) 5049

GRS-S-FDE/70A

22. The sum of the first n terms of the series

is equal to

(@ 2" -n-1
(b) 1-27"

fc) 27" +n-1

(d 2" -1

23. Consider the fellowing in respect of sets

Aand B:
1. (A-BluwB=A
2. (A-BJUA=A
3. (A-B)nB=#¢
4. AcB=AuB=B

Which of the above are correct?
(@) 1, 2 and 3
(b) 2, 3 and 4
(cj 1, 3 and 4

(d 1,2 and 4

24. In the binary cquation

(1p101), +(10g1), = (100700),

where p, g and r are binary digits, what
are the possible values of p, g and r
respectively?

(@ 0,1,0

[ P.T.O.




25. I S={x:x%+1=0, x I%qEAH 8, @ S

forees s 37
(@) {1}
(b) 0}
(c) {1

(@) T e T

26. (x-y)", n>5F TER x H 9@ F MGG

&9 1 T 77 8| e 9fEE 9 93 92 W AM
3 R, i X foresh smR 7
Yy

(a} 11.__.__‘

B =

(c)

@ ——
n

27. o A:[a 2] A det(a3) =125 %,

2 o
A o fFas T 87

(@) +1
(b) *+2
c) £3

d +5
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28. I B TH YHAUA AR & I A TH T

HR 7, A det (B"LAB) %1 0 feruas s
8? -

(a) det(B)
(b) det (A)
(c) det(BY)

(d) det(A™!)

29. I a#b#c 8 @ x H TH W gHE, S

FHTeRTOT

0] x—a x-b

xX+a 0 x—c|=0

x+b x+c O
1 TIE Al ©, Torsh s 87
(@) a
(b) b
© ¢
(@ o

30. 3fe

cosO sinao
A= .
—sino cosda

?, @ AAT TrEs X R (SRM AT, A W
b= &\ 7

THAMAL Q8

(@) A AT
(b) TcHHE® AR
c) A

(d) -A



25. If S={x: x2 +1=0, x is real}, then S is

(@ 1
(b) {0}
(c) {1

(d) an empty set

26. The cxpansion of (x —y)", n=5 is done

in the descending powers of x. If the
sum of the fifth and sixth terms is zero,

then ¥ is equal to
y

(b)

(c)

(d)

o 2 3
27. If A:{Q 5 and det (A°) =125,

then « is equal to
@ +1
(b) +2
fcg =3

(d +5

GRS-S-FDE/70A
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28. If B is a non-singular matrix and A is
a square matrix, then the value of
det (B"1AB) is equal to

(@) det(B)
(b) det(4)

(c) det(BY)

(d) det(A™))

29, If a# b #c, then one value of x which
satisfies the equation

0 x—-a x-b
x+a 0 x—-cl|=0
x+b x+c 0

is given by
(@ a
(b) b
© c
(d O

30. If .
coso sino
i S v
—-sino coso

then what is AAT equal to (where AT is
the transpose of A)?

(a) Null matrix
(b) ldentity matrix
(c) A

(d -A

[ P.T.O.




31. YHieRl 34. af
x+2Yy+3z=1
2x+y+3z=2
Sx+5y+9z=4

fopg wep & 87
(@) TR A 74 @ 3, @ Fr=feafaa # @ F=-ar w8 27

(b) T I IFAF TA © N
(c) A ETE & (a) E,M%W{éﬁﬁ%w%

(d) I9g H 4 g T

x+ty Y 3 4
32. A{ o x_y} B{_Jﬁﬂ(;:[_z]

21 3fe AB=C®, 91 A? frus = 27

Il
]

n e O

€ O ¥
o x <

(b) x, THTS % T H H TH ¢

@ | * H @ %, -1 % e 6 3w
4 4

® | g —16]

(c) = *8} 35. He (AR) 3x3 F wff areggl, TEdh
|4 12 yfaftal Faet 0 s1eEn 1 ¥, ¥ Ug=E A W
e 08 fmm iR wm cfifiie 7 B, A 1 T T

(@) 812] Iy i 3 wft aegg § R

frufet =1 W 1 %) 9 @R R C, A ®
TH U IqE=d § ek wfl ey %
33. grfire (feefifie) fafent w1 o9 -1 8, @ Fafefes & @
1 1 1 HH-91 & 77

1 1+xyz 1

1 1 1+ xyz (a) Cﬁ‘ﬂi%
forerh sIeR 27
(@) l+x+y+z (b) BT I € g4 g, o T c#
(b) 2xyz
() x2y2z2 c) A=BuC

(d) 2x?y?z? (d) B, C¥ R T T §
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31. The cquations x.y 0

x+2y+3z=1 34. If |0 x y|=0, then which one of the
2x+y+3z=2 y 0 x
Sx+5y+9z=4 following is correct?

(@) have the unique solution

e ;
(b) have infinitely many solutions (a) i is one of the cube roots of unity
(c) are inconsistent

f
(d) None of the above (b)

+ 3 4
32. A:[x ¥ ¥ ],}3:[ ]anch=[ }
X x-y —2 -2

If AB=C, then what is A2 equal to?

~x is one of the cube roots of unity

(c)] yis one of the cube roots of unity

[ 4 8
(@) -4 —16} (d) X is one of the cube roots of -1
- ) y
w | 7
|8 -16
-4 -8 35. Consider the set A of all matrices of order
(c) 4 19 3x 3 with entries 0 or 1 only. Let B be
= & the subset of A consisting of all matrices
4 8 whose determinant is 1. Let C be the
(d) 8 19 subset of A consisting of all matrices
L - whose determinant is —1. Then which

one of the following is correct?
33. What is the value of the determinant
1 1 1
1 1+ xyz 1 P
1 1 1+ xy=z

(a) C is empty

(@ l+x+y+z (b) B has as many elements as C
(b) 2xyz
cg A=BuC
(c) x29222 (e
(d) 23‘2922 @ (d) Bhas thrice as many elements as C
GRS-S-FDE/70A 13 [ P.T.0.




36. =R A{ °°_See Si“g] @ A Py 39. AR sinA=:§;%, SRl 450°< A < 540° &, T
~-sinB cos
e 87 cos g foroeh s 27
" cos 30 sin 30 1
(a) i —-sin 36 cos 36 (@) Ji0
b) i cos® 8 sin° 0 ) (b) _\flz
| ~sin® 8 cos® BJ 1
" cos 30 —sin 30 (c} %
(c) | sin 30  cos 36
(@) o T ¥ S T

(d) {rzos3 B -sin® 9}

sin® 0 cos® 0

T T V3 forueh s 27
sin 10° cos 10°

a h gl|| x (a) O
37. [x y2|h b flly| # FR (AR
g f el = (b) 1
187
c) 2
(a) 3x1
(b) 1x1 (@ 4
(c) 1x3
41. 100 m 9% & TF THw-ww F I ¥
(d) 3x3 5
q7E 1 IHEITHA-RIY] tan_l(—lEJ HECE I
ro 17 TeRr-Ee % ot <l gl foe 27
38. LA:|1 OJ%,ﬁA“ﬁW | 8¢
_ . (@ 120 m
L. 5 b [ & b) 180
(a) o 1] (b) 0 o] (b) m
) fc/ 240 m
” 0 0] - 0 1
|1 1] |1 0] (d) 360 m
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cosB sinB

36. If A:{ }, then what is

—-sin® cosH

A¢ equal to?

[ cos 36 sin 30
(@) L -sin 30 cos 36
(b) [ cos® 8 sin® @

I —sin® 8 cos® 6

cos 38 -sin 30
(c) ;

| sin 30 cos 30

cos® 8 —sin® 9
@ |3, 5
sin® ® cos” 6

37. What is the order of

a h gl||x
[x y2l|h b f|ly|?
g f c||l =z
(@ 3x1
(b) 1x1
fc) 1x3
(d 3x3

0 1
38. If A =[ : 0], then the value of A? is

1 0] 2 1 1]
(@ 0 1] () 0 0]
0] 2 [0 1]

@ |51 @ |5 o

GRS-S5-FDE/T70A 15

39. If sin A= -g, where 450°< A < 540°, then

A .
cos 5 is equal to

(@)

5-
o

(b) -

e

(c)

s

(d) None of the above

1 NS

40. What is — =
sin 10° cos 10°

equal to?

(@) O
(b) 1
(c) 2
(@ 4

41. From the top of a lighthouse, 100 m

high, the angle of depression of a boat

is tan'l(i} What is the distance

12
between the boat and the lighthouse?

fa) 120 m
(p) 180 m
{c) 240 m

(d) 360 m

[ P.T.O.




42. sin(x+gJ+cos(x+g) % Hfrpan A7H,

(o, g)%ﬁa‘mﬁ,ﬁmﬁmﬁﬁmmé?

b
(a) ﬁ

m
(c) 5

43. 3t K = sin[iJ sin (57:) Sm(
18 18

@ K forass suer 27

1

L

1

@ =

44, wigm SN +sinB oo oA

coso. +cosf

(a) tan [OLTJFBJ

B
(b) cot(T]

..I
{c) sm[ 5 )

(@ (“;‘3]

]

‘U.)

L
6

N3

B

45. 4 sin® = 3sin (6 + 20

tan (0 + o) + 2 tanc T A TFEsH TR 87

(@) -1
fc 1

GRS-S-FDE/70A

(b) O

@ 2

46. tan 18° fra® ayer 27

(a) __‘/il__
10+25
(b) J5-1
J10+4/5
) J10+2J5
J5-1
10++/5
(d) o1

47. 7R S % x, y, z 9T SRl G
Wm%ﬁﬁﬁ(}Pﬁ%aﬂ(taH_lx
an_.ly a1 tanlz @1 AP H %, ol
THfiad A 8 -4 wel 27
fa) x=y==z
(b) xz=1
{c) x;éyaﬂ'{y:z

(d) x=y35ﬁ'{ y#z

48, AR tan(@ +f) =2 3N tan(e-P =1 8, @
tan (2o) Toruh sEt 87

(a) -3
(b) -2

1
(c) 3
(@ 1




42. The maximum value of

alter i
sin|x+ — |+cos|x+—
6 6

in the interval [0, gj is attained at

n (8

; (a) 12 (b) 6
n n

) € 3 @ 3

43. If K = sin(lj sin [E‘EJ sin (-7—“] , then
18 18 18

what is the value of K?

1 1
@ 3 (b) —
1 1

e 5 @ =

; sinco +sin
44. The expression ——-_——B

is equal to
cost +cosP

. (a) tan [a ; B)
. (b) cot (“ ; B]
(c) sin [“ ; B]

45, If sin® = 3sin(6 +2), then the value of
tan(®@+o) + 2 tana is equal to

(@ -1 (b) O

(¢ 1 (d 2

GRS-S-FDE/7TOA

46. What is the value of tan 18°?

P i e B
J10+24/5
J5-1

] e T
: 10 ++/5

J10+245
©@ ~FI1
10 +/5

d 5
% -

47. Let x, y, z be positive real numbers

such that x, y, z are in GP and tan~! x,

1

tan_ly and tan "z are in AP. Then

which one of the following is correct?
fa) x=y==z

(b) xz=1

fc) x#yand y=z

(d x=yand y#z

48. If tan(@ +pB)=2 and tan(x -B)=1 then
tan (2ct) is equal to

(@ -3
(b) -2
1
(¢} - 3
(@ 1

[ P.T.O.




49. it ABC % fae frafafaa w fomm Hifs

- [B+ C) [A)
1. sin =cos| —
.2 2

2. tan( B; C) = Cot(é)

\ 2
3. sin(B+C)=cosA
4. tan(B+C)=—-cotA

I9E H ¥ BE-H g §7
(@ 13N 3
(b) 132
(¢ 134
(d) 23R 3

50. =fz sec 6 —cosec B = 45 g, @ (sin® —cos®)

forgss sR 87
(@) Fad -2
(b) erer L

2

(¢c) _2 afr(%éﬁfﬁ

() :{a’r%,q%“rmz

51. afz fordt Biys = o oW (1, 1) @ 3R 59 3if
d R W arefl < oyensl &% weaferg
(<1, 2) 3 (3, 2) &, O Fgs 1 Fess B

W (4] w2

@ (53) 3

@ (1)

GRS-S-FDE/70A
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52. T Ty, R =i A1, v3), B(O 0) 3R
C@, 0) %, = 33 qm

o (2

I2 i
® (3 %)
o (2]
@ (1)

53. It s wui wge & MR wurm o
(-2, - 1), (1, 0) 3R @4, 3) &, @ =N g =
e = 27

(@ (1, 2)
(b) (1, Q)
(c) (0, 0)
(@ (1, -1)

54, T gd x2 4 y? =12 3R
x?+y%-10x+16=0 @ fim fogel w
gfede = g, a1 Fefafan 8§ 8 Sa-m
qe 87

(@) 2<r<8
(b) r=23¥dlr=8
(c) r<2

d r>2



49. Consider the following for triangle ABC: 52. The incentre of the triangle with vertices

_ (B+C A A1, ¥3), B(0, 0) and C(, 0) is
1s sm( > j = cos[—]
J3
a 1, —
2 tan[B+C]=cot[é) (@) ( 2
2 2
3. sin(B+C)=cosA 5 1
b) |=, —
4, tan(B+C)=—cotA ( [3’ ﬁ]
Which of the above are correct? ]
() (E _«@]
(@ 1 and 3 3 2
(h) 1 and 2 y
@ (1)
(c) 1 and 4 V3
({dl 2 and 3
53. If the three consecutive vertices of a
4 _ parallelogram are (-2, —1), (1, 0) and
S0. If secB-coscch = 3’ then what is @, 3), then what are the coordinates of
(sin® - cos6) equal to? the fourth vertex?
(a) -2 only (@ (1, 2)
i (c) (0, 0)
(c) Both -2 and —
_ 2 (@ (1, -1)

(d) Neither = nor — 2
2 54. The two circles x2+ y2 =72 and
x2 +y% -10x+16 =0 intersect at two

51. If a vertex of a triangle is (1, 1) and the distinet points. Then which one of the

midpoints of two sides of the triangle following is correct?
through this vertex are (-1, 2) and (3, 2),
then the centroid of the triangle is (@ 2<r<8

1 7 7
) [, = b =1, = (b)) r=2orr=28
@ (53 @ (3

(c) r<2
1 7) T
c =T {d) [11 _]
i (3 3 3 (d) r>2
GRS-S-FDE/70A 19 ' [ P.T.O.




55. UF 3, Sl fog (3, -2) 3R (-2, 0) ¥ & 58. TH Wief W1, M 2x+3y+1=0% 99 & d
ST ® TR ST %, WM 2x - y-3=0W forg (-1, 2) ® gt St &, 1 et n 7
feya 7, 1 arfleptor ar 27

(@ 2x+3y—-4=0
(@ x°+y?+3x+2=0

{b) 2x+3y—520
(b) x2 _+y2 + B+ IBy+2 =0
(c) x+y-1=0

2 2 B
() x“+y"+2x=0 e

(@ x*+y*=5

59. W& Y@l F P Jx+By=1 i

56. @ %’ﬁﬁ A(-2, -2) 3R B2, —4) £ Gﬁgﬁ x y

2 20 o
H@@%@#WC[ = 7)%5@[ il tanl(m)
g A faanfra e 87
(@ 1:3 Bl [%]

(b) 3:4 .
(c) 1:2 .
(@} 243
d) tan~! [_1_J
57.wﬁﬁ§ﬂ,ﬁﬂﬁﬁﬂ(i2,o)amql%, (d) tan +
<1 FHIR I -41 87
x2 y2
Bl grbar =l 60. R & s, 5t (7, x), (y, -6) 3 (9, 10) &
T R, H P (6,3) T, O x T y HAM
x2 y2 bk,
(b} S ]
60 64
(@) 5,2
x2 ; y2 B
" Iéa?ﬁ__] (b) 2,5
(g 1,0
2 2
o (d 0,0
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55. What is the equation of the circle which 58. What is the equation of the straight linc

passes through the points (3, —-2) and parallel to 2x+3y+1=0 and passes
(=2, 0) and having its centre on the line through the point (-1, 2)?
2x-y-3=07

. " (@) 2x+3y-4=0
(@ x“+y“ +3x+2=0
(b) 2x+3y—-5=0
(b) x2+y?+3x+12y+2=0
(c) x+y-1=0
2 2
el X*H +2x =0
e . (df 3x-2y+7=0
(d x?+y%=5

59. What is the acute angle between the

56. What is the ratio in which the point pair of straight lines v2x ++/3y =1 and

C(—?, —7j divides the line joining the
i = il
oints A(-2, —2) and B2, —4)? a) tan 1[—]
P ( ) ( ) (@) 2/e
faj 1:3
(b) 3:4 (b) tan~? [_1_]
. : Np)
fc) 1:2
@ 2:3 (c) tan~! (3
57. What is the equation of the ellipse ?aving (@) tan! (%)
foci (+2, 0) and the eccentricity Z? 3
x2 y2
{a) a+% =1 60. If the centroid of a triangle formed by
(7, x), (y, —6) and (9, 10) is (6, 3), then
the values of x and y are respectively
x2 y2
(B) Z_+2_=1
2 2
0 Z-+L =1 (b) 2,5
20 24
(¢ 1,0
2 2
(d) LSS S, '
24 20 (d 0,0

GRS-S-FDE/70A 21 [ P.T.O.




61. TF Ta w1, fwe g wem (0, 1, 0) %
(a) x-318 F FHIR o
(b) y-¥1& % FHIHR B
() z-31& % TR B

(@) | e A A TR g g R

62. (0, 0, 0), (@, 0, 0}, (0, b, 0) 3R (0, 0, c) TR
fafir forgd 21 3w forg @1 Fdwnies, <t 7 =i
forgedl @ wormw gt W 3, @ 37

a+b+ec a+b+c a+b+c
(a) BT T ] »
3 3 3

(b) (& b, c)

o (549

a

(@ [5,

Wiz
Wi
pa e B

63. g P(3,2,4), 0@, 5,2, R(5, 8, 0) R
S@, -1, 6)

(@) ws, S A R, ¥ -
fag 2

(b) HEHTAE B
(c) @E
(d) awae &, g e el §

GRS-S-FDE/70A

64. fogat (1, 2, - 1) 3R (3, -1, 2) | A 9T
W1, yz-v9aa ¥ Freafafea foget 3 | B
TR et &7

65. Tr=faflaa § & #H-9 v fefa % swafa wand
x=ay+b; z=cy+d I x=ey+f;
z=gy+hdd 27

(a) ae+cg—-1=0
(b) ae+bf —-1=0
(c) ae+cg+1=0

(d ag+ce+1=0

66. aft a=i-j+k, b=20+3j+2k 3K
c=i+mj+nk 9 WHdcE g & 2
1| =6 &, a Fmfcfad § 4 s1H-91 @ &8
77

(@ m=23Mn=1+1
(b)) m=+23Mn=-1
(c) m=23Mn=-1

(d m=+23Mn=1



61. A straight line with direction cosines
(0, 1, 0) is

(a) parallel to x-axis

(b) parallel to yaxis

ol
O
)

(d) equally inclined to all the axes

62. (0, 0, 0), (@, O, 0), (0, b, 0)and (0, O, c) are
four distinct points. What are the
coordinates of the point which is
equidistant from the four points?

(@) (a+:+c’ a+§+c, a+§+c]
(b) (& b, c)

oy

oBb3

63. The points P(3, 2, 4), Q@4, 5, 2), R(5, 8, 0)
and S(2, -1, 6) are

(a) vertices of a rhombus which is not
a square

(b) non-coplanar
(c) collinear

(d) coplanar but not collinear

GRS-S-FDE/70A 23

64. The line passing through the points

(1,2, -1) and (3, -1,2) meets the
yz-plane at which one of the following
points? '

v (o)

Under which one of the following
conditions are the lines x=aqy+b;
z=cy+d and x=ey+f; z=gyth
perpendicular?

(a) ae+cg—1=0
(b) ae+bf -1=0

(c) ae+tcg+1=0

(d) ag+ce+1=0

66. If a=i-j+k, b=20+3j+2k and

C=1+ m}'+n!€ are three coplanar
vectors and |¢ | = /6, then which one of
the following is correct?

(a) m=2and n=+1
(b) m==x2and n=-1
{c) m=2and n=-1

(d m=t2and n=1

[ P.T.O.



67. W ofvig T ABCD e wwiat =sigifst & e 70. ARt d =2+ 3] +4K 3 b = 3( +2) - AL @
Tl P witeag o € qon wm s & o % @ A WE AT

—
TEfeg %, @ OA + OB + OC + OD T

A7 @ 2
(@) 2.53 by 3
(b) 40P B #
(c) 60P LA
(d) 8OP

x¢--
71. lim e 1+x)1_-é 3 a7
x—0 x2

68. ABCD T& =gy & Tr&eh fa&v AC IR BD
2| frafafaa # 4 #F-w o ad 27 (@) O

—_— == = —

(@ BA + CD = AC + DB

(b) %
— — — —_—
(b) BA + CD = BD + CA
(c) EX+E§=Z€+E’B () 1
(d BA + CD = BC+ AD (d) 2
69. af Gxb -2 AR bx2 -3 2, @ Pt ,,
A F-a1 v w27 72, [2 —  formd auer 37
0 1+cosH
(@ & B, ¢ 7d # wewohy ¥ i
@1 =[] 5] = 1 @
(b) @ b, ¢ TER FFEFHIY
© @ B¢ g@ ¥ deweim % feg ) 1
CIEa _
. _ _ (c) J3
(d) @ b, ¢ FH B e ¥, fg
b1 (@) 3wt & A A 7

GRS-5-FDE/70A 24



67. Let ABCD be a parallelogram whose
diagonals intersect at P and let O be the

. —> — — —
origin. What is OA + OB + OC + OD

equal to?
—
(a) 20P
(b) 40P
—
{c) 60P
——
(d) 8OP

68. ABCD is a quadrilateral whose diagonals
are AC and BD. Which one of the
following is correct?

iy o Byl ek ey
(@ BA + CD = AC + DB

_ = = —
(b) BA+ CD = BD + CA

_— — —3 —
() BA + CD = AC + BD

—_— @ — @ — —}
(d) BA + CD = BC + AD

69. Ifaxb =2 and b x2 = @, then which one
of the following is correct?
(@) d, E, ¢ are orthogonal in pairs and

|d]=[¢|and |b|=1

(b) Ef, B, ¢ are non-orthogonal to each
other

- > . '
(c) a, b, c are orthogonal in pairs but

la|=|¢|

o . .
(d) a, b, ¢ are orthogonal in pairs but
b|#1

GRS-S-FDE/70A
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70. If d=2{+3j+4k and b =31 +2j-AR
are perpendicular, then what is the
value of A?

(@ -2
(b) 3

(c) 4

(@ S

X _
71, Whiit s lin & BN covia 157
x—=0 x2
(a) O
1
(). —
(c) 1
(d) 2
. (% db
72. What is [2 equal to?
'[0 1+cos® 4

1
(a) 5

(b) 1
c) V3

(d) None of the above

[ P.T.O.




73. | A5 e o e

x(x7 + 1)

(@) % In

+C

(b) 7?1_ In

(¢) In

(d) —In

74. X 3 Y % HEE: TR WA % U %o
FiX Y, S flx)=cosx g fifém ¥, wwf
x € X 8, Thehl 3 Ar=a1Es qnt

(@) [0, m] AR[-1, 1]

(b) [—g g}afﬂkl, 1

(¢) [0, m 3 (-1, 1)
(d) [0, n] 3R [0, 1]

75. AR fx) = - ¥, A L@ frad auer 37
x-1 fla+1])

@ 1(-235)
(b) f(a?)
@ f(3)

(d) f(-q

GRS-S-FDE/7T0A

(xe—l +ex'1]dx
76. J’ —— Toreer =R 27

x2

(a) 7-{-0

(b) In(x+e)+c

(c) In(x®+eX)+c

(d) lln (x€ +e*)+c
e

77. 7R @i fF f:[-6,6 >R B S &
flx)=x? -3 g fiftm 3 F=fafes «
ﬁ?ﬁ%’ﬂ}:

L. Fefaf)-l)=(Fefof)])

2. FofeNEY-4 SN0
=(f = NO)

I 8 ¥ wE-T /A T /8
(@) FaA 1

(b) Had 2

(¢) 1 3R 27+

(@@ Ad 1,98 2

78. HH Y 5 f(x) = px +q 3R glx) =mx+n
2, f(g(x) = g(f (x) e g -7

(@) f(p)=glm)
(b) fla)=gn
(e) f(n)=glq)
(d) f(m)=g(p)



73. What is j = equal to?
x(x" +1)
T
(a) —lln - oieal +i
2 x7 +1
7
b —in 2 2lie
¥ x7
7 -1
fc) Inf——|+¢
7
@ lm|-X|+c
7 | x"+1
74. The function f:X —Y defined by

f(x) = cosx, where x € X, is one-one and
onto if X and Y are respectively equal to

(@) [0, =] and [-1, ]]

o

(b) [%‘ E} and [-1, 1]

(c) [0, ] and (-1, 1)
(d) [0, n] and [O, 1]

flg)

75. If f(x)=—>—, then what is
21 fla+1])

equal to?

@ £(-=%)

a+1l

(b) fl(a?)

o 1Y

(d f(-a

GRS-S-FDE/7TOA 27

14 e* hax
X

e
76. What is .[ (e equal to?

x% +e

x2

(a) 74‘0

(b) In(x+e+c

(c) In(x®+e*)+c

(d) 2 In(x® +e¥)+c
e

77. Let f:[-6,6] >R be defined by
f(x) = x2 - 3. Consider the following :

L (fefef)=)=(efefIY)

2. (fofefI=)-4(fef=)1)
=(f = £)O)

Which of the above is/are correct?

(@) 1 only
(b) 2 only
(c) .Both 1 and 2

(d) Neither 1 nor 2

78. Let f(x)= px+q and g(x) = mx +n. Then
flgx)) = g(f(x)) is equivalent to
(@ f(p)=g(n)
(b) fla)=g(n)
(c) f(n)=glq)
(@ f(m)=g(p)

[ P.T.O.



79. AR F(x) =v9-x2 ¥, @

i F(x)-F(])
x—1 x—-1

Tore seR 87

(a) _‘—1-\/_'2:

(b)

00| =

€ -7

GRS-S-FDE/T7TO0A
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81. #H wfifs

X, Gﬁﬁxﬂf@ﬂ%

“x):{o. St x st 3

3R

4 0, Gﬁxﬂf@'ﬂ%
90\, ol x o &

IR F:R-RMg:RHRE, A (f-9 ¢
(a) THHI N Fg (S4-54 TS ¥1g)

(b) T THR, T A=OES

(c) TG-TF IR AT=BEH

(d) THb AR A=SEH

82. s SrHqy Herel =l o 1 B, e wem

flx) = 3sinx -4sin® x

qHAH 87

(a) g

(b)

N3

3n
{c) —2‘

[d n

83. AR xdy= yldx+ydy); y() =1 3R y(x)> 0

2, @ y(- 3) e st 27
(@ 3
(b) 2
© 1
(d) O



79. If F(x) = \/9—x2, then what is 81. Let

. 4 X, xisrational
o Flg-F( 0 sisitiationsl
im ———————=
x—1 x—1

and
equal to? 0, xisrational
g(x): W
x, xisirrational
1 .
A s If f:R—>Rand g: R - R, then (f - g)is
(a) PR (f-9
(a) one-one and into
(b) 1 (b) neither one-one nor onto
(c) many-one and onto
1
c) - (d) one-one and onto
(c) 203
¥ at 1s the len of the longest interv.
82. What is the length of the 1 i al
(@ 1 in which the function
2V2 Flx) = 3sinx —4sin3 x
is increasing?
. d’x |
80. What is 5 equal to? (gl =
dy 3
i
o m =
(@) (fﬁyJ () > 2
dx? dx
© =
-1
m (L] ()7 e ¥
dx? ) \dx
83. If xdy=yldx+ ydy); y(1) =1and y(x) > 0,
‘ 2 then what is y(-3) equal to?
d’y\(dyY
C ‘[PJ[a) @ 3
| (b) 2
-1
2 (c) 1
(d) {d Qy) .
dx (d o
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84. B f(x)=4sin? x+1 H HALFWH HAH 86. Tedl HHEHW

1 27 2 2
()
(@) 5 ¥
I feaft R wife (7)) Faw: #4917
(b) 3
(@ 1,2
(c) 2
(h) 2,1
L (c) 1,4
(d) 4, 1
85. WH ST f(x), sin? x & TH Tl wea
ul 87. a W faa@ma F+1 | y? -2ay+ x2 = a? =
Frfafaa e = R Hifm . T 3felshel HHIER] 41 27
GYd 1 {a) [x2—2y2]p2—4pxy—x2=0
:ﬁ; fx uiv;gm% flx+m = fo =, b (2 —242)p? +4 pxy—x2 =0
HYH 2 : (¢) (x*+2y%)p?% -4pxy-x2=0
sin2(x+n}=sin2x 7, ooft arafos x & - (d) (x2 +2y2)p:rl —4pxy+x2 =0
fa)
Eﬁ_p=@%l
I Fo ¥ wed ¥ frffaa 3§ 4 SR o
T HEl 27
(@) 3 oA E E eI FUT 2, HUA 1 H B8. I@HA WHFT ydx-(x+2y°)dy=0 FI
el BTt % AT T 1 &7
_ 2
(b) QI HAA GE 8, Theg FUA 2, FAT 1 H (@ x=y* +ey
gl e (b) x=2c:y2

() U 1 G R, foheg oA 2 TTord @ o w=? sy

(d) FF 1 7ad §, Tohrg HoF 2 T @ (@) 3w & 1§ A
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84. What is the maximum value of the 86. What are the degree and order

function f(x) =4sin? x+1? respectively of the differential equation
2
dy)? (dx]
y=x[-——] +H—| ?
(@) S dx dy
¥ (@ 1,2
¥
(c) 2 (b) 2,1
4
: & 1 @ 1,

85. Let f(x) be an indefinite integral of sin? x.

87. What is the differential equation
2 2

Consider the following statements : corresponding to y? —2ay+ x2% =a? by
eliminating a?
Statement 1 :

The function flx) satisfies ( y'lp pxy

x +m = f(x) for all real x.
f( ) f[] (b) (x2_2y2]p2+4pxy_x2=0
Statement 2 : (c) (x2 +2y2)p2 iy g s

sinz[x +m) = sin? x for all real x. :

(d) (x2+2y%)p? -4pxy+x% =0
Which one of the following is correct in
respect of the above statements?

(a) Both the statements are true and
Statement 2 is the correct

: 88. What is the general solution of the
explanation of Statement 1

differential equation

2 -
(b) Both the statements are true but ydx —(x+2y*)dy=07?
Statement 2 is not the correct
explanation of Statement 1 (@) x=y?+cy
(c) Statement 1 is true but (b) x =2cy?

Statement 2 is false
fc) x=2y>+cy
(d) Statement 1 is false but
Statement 2 is true (d) None of the above
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89, H Wity f& @ x R y ¥ T

91. Wmln(@J—a=Oiﬂﬁw%?
Sty = £ f(4) 3 @ f(5) Fhueh s & dx

90. IR f(x) N g(x),

el f(x), fl) 1 SHecherst 7]
(@) f1(5)7(0)

(b) f(5]--f’(0)

(c) f(5)f(0)

(@ f5+f0

flo)=fla-x) 3N
gx)+gla-x)=2 El F@E A A A
W%,?hjgf(x)g(x)dxﬁm%ﬁw%?

(@ [ gbdx
(b) [§ flx)dx

() 2[ flxdx

(d) 0O

GRS-S-FDE/70A

(a) y=xe®+c
(b) x=ye* +c
¢/ y=lnx+c

(d x=Iny+c

92. AM i o fF(x) Freger fuffa

2x+1, -3<x<-2
flx)={x-1, -2<x<0
xX+2, 0<x<l1

gt wer % gy § fefeRan wud A A
HM-|1 Hel 27

(@) I8 x=-2W W%,WMW
forrg W waa B

(b) TE FdS FAUSA (- 3, - 2) § Had Bl

[ 'y

(c) T® x =0T FHad &, clipd T4 A=

forg W waa &1

(d) I8 YA forg T 78 2|



89. Let f(x+ 1) = f(x) f{y for all x and y. Then
what is f'(5) equal to [where f’(x) is the
derivative of f(x])]?

(@ 1570
’ (b} f(5)-r'0
(c) F5fO

(d@) fO)+ 10

90. If f(x) and g(x) are continuous
functions satisfying f(x) = f(a- x) and
gx)+gla-x)=2, then what is

jg f(x) g(x)dx equal to?

(@ [} glx)dx

(b) [} flx)dx

() 2[5 flx)dx

([d o

GRS-S-FDE/70A

91. What is the solution of the differential
equation

In [@)—azﬂ?
dx

(@) y=xe® +c
(b) x=ye® +c

fc) y=Inx+c

(df x=Iny+c

92. Let f(x) be defined as follows :

2x+1, -3<x<-2
fl)=3x-1, -2<x<0
x+2, 0<x«<l1

Which one of the fellowing statements is
correct in respect of the above function?

(@) 1t is discontinuous at x =-2 but
continuous at every other point.

(b) 1t is continuous only in the interval
-3, -2).

(c) 1t is discontinuous at x =0 but
continuous at every other point.

(d) 1t is discontinuous at every point.

[P0,




93. Ffafaa weohl w femr Fifvw -
1. 3 lim fx) R lim g(x]?fl’—ﬁﬁlw
g, lim {f () g(x)} Toremm 21

2. AR lim {f)gx) Temm B,

X—=ra

lim f(x) 3R lim g(x) J[ ITHA

X—ra

T 3|
I el B W WA/ g /A
(a) FFd 1
(b) e 2
(c) 1 IR 22

(d T8 2

94, Frfofgd e A G FH-AT H AN TG, 7
7 faum?

@ x2-1
(b) x+>
fc) |x|

(d) x?x-3)
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95. log;o (5x2 +3) 1 x % THY kel A1 87

X loglo e
5x2 +3

(@)

2xlog g e
5x2 +3

(b)

10x log g e

(c)
5x2 +3

10x log, 10

(d)
5x2 +3

96. HH s R f[a):Z—"l ]

+1

firrfirfian  Rrew B -

1. f(2a)= fl@)+1

2. f(3)--ra

I § A B/ R /AT
(@) ed 1

(b) A 2

(c) 1 3R 23

(d I@1LAR2



93. Consider the following statements :

1. If lim f(x) and lim g(x) both exist,
X—a

X—=ral

then lim {f(x) g(x)} exists.
X—a

2. If lim {f(x)g(x)} exists, then both
X—=a

lim f(x) and lim g(x) must exist.
X—rd xXx—a

Which of the above statements is/are
correct?

(@) 1 only
(b} 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

94. Which one of the following functions is
neither even nor odd?

(@ x2-1

(b) x+E
X

(c) |x|

(d x?(x-3

GRS-S-FDE/TOA

95. What is the derivative of log,, (5x? + 3)

with respect to x?

xlog;n e
(a) .2—10‘
o5x“ +3
2xlogipe
(b) _TIC‘_
S5x“ +3
10x log;p €
() —E1eS
. 9x“+3
10x log, 10
@ —re—
5x“ +3
a—1
96. Let fla)=——:.
a+1

Consider the following :

1. fQa)=fla)+1

1
2. f(3)=~r@
a
Which of the above is/are correct?
(aj 1 only
(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.




97, o T a1 99 % T (3FreRid) ST ST HepA
arel Bt 1 Aty eawe 7 87

(@ ==

v %

(c)

@ ==

98. ﬂﬁ?ﬂﬁﬂ{ﬁf{x)=x+-j:%,ﬁﬁxe(0, ) B,
a1 Frefafaa § ¥ #9-w1 w wd 27
(@) (), SIS H Hei-sieal @
(b) flx), e § 9dAH
(c) (), ATt | BremH
(@) 3T H | g T
99; o ST & B flx)=x", n# 0 YH x

F fou stawaa B, @ n 50 3iata &1 918
Haua gl Tehal 8¢

(@) [1, )

(b) (0, =)

o (3 )
(d) 3ugxh A @ IS T
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Py H\dx%@%w%?
X

(@)

MW

(b)

nolon

(c) 3

d 4

101. 20 Y&l I TGO 5 2| T Y V01 3 W

Ton e S, o Rl Yeqn T awe
B

(@) S
(b) 10
() 15

(d) 45

102. 100 W&l % T WHE 1 HiLA 20 WH g

98 & g T R =R Yaw Tem 9, R
21, 21, 18 3 20 <=l fpar w0 91| IR
TTeTq Y& = B8 R sy, d@ W w®n et

(@ 18
(b) 20
€ 21

(@ 22



97. What is the maximum area of a triangle
that can be inscribed in a circle of

radius a? :
(a) Egﬁ
(b) %
n _3_{39_,2
(d) ‘/gfz

98. Let f(x)=x+—, where x€(0 1. Then
X

which one of the following is correct?
(a) f(x) fluctuates in the interval

(b) f(x) increases in the interval

fe) f(x) decreases in the interval

{d) None of the above

99. Suppose the function f(x)=x", n#0is

differentiable for all x. Then n can be
any element of the interval

fa) [1, =)
(b) (0, =)
o )

(d) None of the above

GRS-S-FDE/70A
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100. What is [*, WX S eiial t6?
€ 2
3
(a) 2
5
b e
(b) 2
(¢ 3
(@ 4

101. The variance of 20 observations is 5. If
each observation is multiplied by 3,
then what is the new variance of the
resulting observations?

(@) S

(b) 10
(c) 15
(d) 45

102. The mean of a group of 100 observations
was found to be 20. Later it was found
that four observations were incorrect,
which were recorded as 21, 21, 18 and
20. What is the mean if the incorrect
observations are omitted?

(a) 18
(b) 20
{c) 21

@ 22

[ P.T.O.




103. & geut iR @ wigensd # ¥ A =ufwdl h & 106. 1 i@ w2zl A iR B % foq @8 foar mn
aftiftt e=1é s B =0 w6 afufa o t % PA)=0-2 3 PB)=0-5 Bl 3R
Fad Afean g ? Ac B¢, i gufasy miFwasii P(A|B) &R
. P (B|A) % WH sHI: #4187

o=
N
w

(b)

| =
w| N

(c)

(d)

Wbk B —

A * = 7
104. R frfEl 4, B sk ¢ #i T v T 0% %%?wwwgﬁﬁq;g?%zﬁ%
2, Pl o w0 f SR wiRed we: SRl

1 7 i ) o I Fex & AfuE @iy 87
22 ER - R Wi ® T oyw g A i
2’3 4 @ 1
ST 5
1
1 1
@ o7 ® 2
() @ 3
7
1
3 (d) =
(c) Z
gy 22 ' 108. f 4y-15x+410=0 3R
24

30x - 2y - 825 = 0 S48 (x) 3N 8N (y) F
= 3 gEEEw Wil €, 9 SuE $R 9 F
105. Fret e ¥ 150 TPt w1 me 95 60 kg <= TRy T 1 R
2| e § @SH H OHEA G5H 70 kg B 3R -
AT #1 55 kg €| hel W TEH Hl GEA
e 87
() 50
(b} 55 {c]
(c) 60
(@ 100 (@

(b)

Bl Wi N= W=
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103. A committee of two persons is constituted 106. For two dependent events A and B, it is
from two men and two women. What is given that P(A)=0:-2 and P(B)=0-5. If
the probability that the committee will AC B, then the values of conditional
have only women? probabilities P(A|B) and P(B|A) are

respectively
@ ~ 2 3
: (@ ‘5 5
(b) — 2
3 b) —, 1
L
© = 2
c 1, —
2 (c) 5
(d) % (d) Information is insufficient

107. A point is chosen at random inside a

104. A question is given to three students A, : ; i
E, £ circle. What is the probability that the

B and C whose chances of solving it are

T 1 ] . peint is closer to the centre of the circle
> a3 and p respectively. What is the than to its boundary?
probability that the question will be (@) 1
solved? ) 5
1 1
ot o (b) —
@ o2 4
1
1 o
(b) = (c) 3
-1
3 d -
c) — 2
(c) =
(d) 23 108. If two regression lines between height (x)
24 and weight (y) are4y—-15x +410 = Oand
30x-2y-825=0, then what will be
105. The mean welght of 150 students in a the correlation coefficient between
certain class is 60 kg. The mean weight height and weight?
of boys in the class is 70 kg and that of 1
girls is 55 kg. What is the number of (a) 3
boys in the class?
1
(@) 50 g
2
(b) 55 (c) 5
c) 60
(c) a0 a
(d) 100 4
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109. Tre wlen ¥ 40% srfdal 3 fid aoft 9w 112. 77 =9 dgfed &9 ¥ oamfia ®, @ fFrafafed

$| g AFHS H ™ ARG (qrss_irraf) T Al grryl § | FE-91 0% 98 27
ﬁﬂﬁaaww%wm (@) 2 x T R = 5 x i Freer
(@ 40 (b) 90° (b) 5 x AFH fa=eH = 2 x ia fodem
(c) 144° (d) 320° | (c) 4 xAHH faweH = 5 x 3iwa fa=em

(d) 5 xAFH fT=em = 4 x 3w f=em
110. Frfafaa wor w feEm AR

— 113. Fr=fafaa § 3 fFa w9 % g9 #1 wgd fean s
Hehel 27
O, YRAYY 61 Th =31 7Y TE B N —
Y 2 ¢ 2. YRUflEg §9
W, W A % s § wga 3. swTe
FTferd Bl & | #9 fau U 2 | oy AR EE I g
3qh wert & wadf # frfeRea 4 @ #\- (@) ¥ 132
R Fed 2 3R
(@ Fu4 1 3R FoF 2 qA d&@ § 3R ™ 23
HUF 2, HUA 1 T TE TEH (c) Fad 1 3R 3
(b) FUA 1 3 U 2 A wE F, AR (d 1,233

FeH 2, FUF 1 I FE TEF E B

(c) HYF 1 T B, AR FoH 2 Ted ® vy P i it S T, 8 .
(d) & 2 U 7, AfHT FUA 1 Terd B ¥ T =i sisiza 4 @t % fog o &=
o 21 A A aml o ufdeded Ty PR, @
firg P o, g vt % Fe ol 8 R

111. =31 e 4 H 78 52 vl H wewer aw A/ S
s e A ¥ s ya1 P S 81 39 9
F7 Wikrekar & 76 o8 31 27 (@) WIfEas!
1 2 (b) WA
@ 13 ®) 13
3 1 (e =
CEs @ N—
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109. In an examination, 40% of candidates
got second class. When the data are
represented by a pie chart, what is the
angle corresponding to second class?

(@ 40° (b) 90°

144°

(c) (d) 320°

110. Consider the following statements :
Statement 1 :

Range is not a good measure of
dispersion.

Statement 2 :

Range is highly affected by the

existence of extreme values.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement 1 and Statement 2
are correct and Statement 2 is the
correct explanation of Statement 1

Both Statement 1 and Statement 2
are correct but Statement 2 is
not the correct explanation of
Statement 1

(b)

(c) Statement 1 is correct but
Statement 2 is not correct
(d) Statement 2 is correct but

Statement 1 is not correct

111. A card is drawn from a well-shuffled
ordinary deck of 52 cards. What is the
probability that it is an ace?

2

(a) 13 (b) 13
3 1

(c) 13 =

GRS-S-FDE/70A
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112. If the data are moderately non-
symmetrical, then which one of the
following empirical relationships is
correct?

(a) 2 x Standard deviation
= 5 x Mean deviation

(b) 5 x Standard deviation
= 2 X Mean deviation

(c) 4 x Standard deviation
= 5 x Mean deviation

(d) 5 x Standard deviation
= 4 x Mean deviation

113. Data can be represented in which of the
following forms?

1. Textual form
2. Tabular form
3. Graphical form

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

114. For given statistical data, the graphs for
less than ogive and more than ogive are
drawn. If the point at which the two
curves intersect is P, then abscissa of
point P gives the value of which one
of the following measures of central
tendency?

(@)
(b)
(c)
(@)

Median
Mean
Mode

Geometric mean

[ P.T.O.




115. f=fefad FoA w foer fifs 118. afe @1 3 T@ Tk w9 ¥, @ w0 wReRm R

1. 2 g qREhe w9 § safia ¥, af frarma a8 %, A€ oF
T "1 I Hied &1, gall 92T % Hidd 1
B < ek B @ 3
2. < UREfeh ®f § gdfeid geTisi & i
g B wiRe@, S gus ) =
REa] % A % T R
3
I FoAl B W BA-w /A w230 (€
(@) <hae 1 5
(d —
(b) FaE 2 6
(c) 1R 22
(@ a1, T8 2 119. 1M s f& A 3R B 31 yrEfEs sgafid
g ¥, ot P{A)z% S P(B]~4i 2

116. AR x & y W aA y F1 x T AT 0N

P(A ~ B) %1 94 FI1 87
ERNE —%@R—%%,?ﬁxaﬁty%aﬁa

4

HewreY 0T 1 27 “ %
@ -2 m - ® 5
o ¢ @ - @ 5
117. 5 d&vit % ww wieyl & wea 32 U it [l 1_52

33 B 96 ¥ I8 U T TR U U et |
35 % M 9T 40 € L fordn @ 91| 9fe g
e & 3% Hd §, q1 fafafad 3 & sE- 120. Tt fgug aveq =1 qien iR ams fa=em wau:

al 37 12 3R 2 B g (wlheen) 6 gen
(@ T TR e 9 =W T § 1 27
(b) WifeyEr aft Twdl ®, feg wem wW oA (@) 2

L (b) 12

(c) WTeg 3R HifedeRt 997 %9 B/ S ®

(d) e ddl Tl v, Fheg wiews w9 g
STt B (d) 24

fc) 18
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115. Consider the following statements : 118. If two fair dice are thrown, then what is

1. Two events are mutually exclusive the probability that the sum is neither 8
if the occurrence of one event nor 97
prevents the occurrence of the 1
other. (a) —
2. The probability of the union of two
mutually exclusive events is the (b) 3
sum of their individual 4
probabilities.
3
Which of the above statements is/are (c) 4
correct?
a) 1 onl 5
(a) Y (d) g
(b) 2 only
(c) Both 1 and 2
fd) Neither 1 fior 2 119, Let A and B are two mutually exclusive

events with P(A4) = % and P(B) = Zl What
116. If the regression i:oefﬁcierllt of x on y is the value of P(A B)?
and y on x are 5 and —— respectively,

1
then what is the correlation coefficient (@ —
between x and y?
1 1 1
al - bh) —-— b) —
(a) 2 (b) 16 (b)
1 1
c)] — d) —
(© 16 @ 4 (c) 1
3
117. A sample of 5 observations has mean 32 5
and median 33. Later it is found that an d —
. , 12
observation was recorded incorrectly as
40 instead of 35. If we correct the data,
then which one of the following is 120. The mean and standard deviation of a
correct? _ binomial distribution are 12 and 2
(a) The mean and median remain the respectively. What is the number of
same trials?
(b) The median remains the same but (@) 2
the mean will decrease
¢ The mean and median both will (b) 12
decre
ase () 18
(d) The mean remains the same but
median will decrease (d) 24
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